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/DPSLUDQ� ���/HPEDU�3HUVHWXMXDQ�0HQMDGL�5HVSRQGHQ ��������������������������������������� ��

/DPSLUDQ� ���/HPEDU�.XHVLRQHU�'DWD�'HPRJUDIL ����������������������������������������������� ��

/DPSLUDQ� ���6WDQGDUW�2SHUDVLRQDO�3URVHGXU�%HUPDLQ�3X]]OH ����������������������������� ��

/DPSLUDQ ���.XHVLRQHU�)XQJVL�.RJQLWLI��006(� 0RGLILNDVL�/D\OD�	�:DWL ���� ��

/DPSLUDQ� ���'DIWDU�+DGLU�5HVSRQGHQ ����������������������������������������������������������������� ��

/DPSLUDQ� ���/HPEDU�2EVHUYDVL�%HUPDLQ�3X]]OH������������������������������������������������� ��

/DPSLUDQ� ���5HNDSLWXODVL�3HUXEDKDQ�)XQJVL�.RJQLWLI 3UH�GDQ�3RV�,QWHUYHQVL ��� ��

/DPSLUDQ� ���5HNDSLWXODVL�'DWD�8PXP�5HVSRQGHQ�'L�3DQWL�:HUGKD�6W��<RVHI��
6XUDED\D����������������������������������������������������������������������������������������� ��

/DPSLUDQ�����6XUDW�3HUPRKRQDQ�,MLQ�6XUYHL�$ZDO�'DQ�3HQHOLWLDQ ���������������������� ��

/DPSLUDQ�����6XUDW�7HODK�0HODNXNDQ�3HQHOLWLDQ�������������������������������������������������� ��

/DPSLUDQ�����+DVLO�8ML�:LOFR[RQ�6LJQHG�5DQNV�7HVW ������������������������������������������� ��

/DPSLUDQ�����*DPEDU�3HODNVDQDDQ�,QWHUYHQVL�%RDUG�*DPH��3X]]OH��'L�3DQWL��
:HUGKD�6W��<RVHI�6XUDED\D ����������������������������������������������������������� ��
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2OHK��6WHYHQ�$OGR�0DUFHOOR

/DQVLD�EHUHVLNR�PHQJDODPL�NHODLQDQ�IXQJVL�NRJQLWLI�DNLEDW�SURVHV�SHQXDDQ��
6DODK�VDWX�WHUDSL�XQWXN�PHQLQJNDWNDQ�IXQJVL�NRJQLWLI�DGDODK�ERDUG�JDPH��SX]]OH���
7XMXDQ�SHQHOLWLDQ� LQL�DGDODK�PHQJDQDOLVLV�DGDQ\D�SHQJDUXK�ERDUG�JDPH� �SX]]OH��
WHUKDGDS�IXQJVL�NRJQLWLI�ODQVLD��'HVDLQ�SHQHOLWLDQ�LQL�DGDODK�SUH�H[SHULPHQW�GHVLJQ
GHQJDQ� SHQGHNDWDQ� RQH� JURXS� SUHWHVW�SRVWWHVW� GHVLJQ�� 9DULDEHO� LQGHSHQGHQ�
SHQHOLWLDQ� LQL� DGDODK� ERDUG� JDPH� �SX]]OH�� VHGDQJNDQ� YDULDEHO� GHSHQGHQ� IXQJVL�
NRJQLWLI�ODQVLD��3RSXODVL�GDODP�SHQHOLWLDQ�LQL�DGDODK�VHPXD�ODQVLD�\DQJ�PHQJDODPL�
WDQGD�NOLQLV�SHQXUXQDQ�GD\D�LQJDW�GL�3DQWL�:HUGKD�6W��<RVHI�VHEDQ\DN����ODQVLD��
6DPSHO�GLDPELO�GDUL�VHPXD�SRSXODVL GHQJDQ�WHNQLN�VDPSOLQJ�\DLWX�WRWDO�VDPSOLQJ�
$ODW�XNXU�IXQJVL�NRJQLWLI�\DQJ�GLJXQDNDQ�006(��0LQL�0HQWDO�6WDWH�([DPLQDWLRQ���
8ML� KLSRWHVLV� PHQJJXQDNDQ� :LOFR[RQ� 6LJQHG� 5DQN� 7HVW�� +DVLO� SHQHOLWLDQ
PHQXQMXNNDQ�S ������GHQJDQ� WLQJNDW� VLJQLILNDQ�Į ����� VHKLQJJD�PHQXQMXNNDQ�
DGDQ\D� SHQJDUXK� \DQJ� VLJQLILNDQ� SDGD� ERDUG� JDPH� �SX]]OH�� WHUKDGDS� IXQJVL�
NRJQLWLI� ODQVLD��%RDUG�JDPH� �SX]]OH��PHUDQJVDQJ NHPDPSXDQ�NRJQLWLI�RWDN�DJDU
RWDN� EHNHUMD� GHQJDQ� PDNVLPDO�� VHEDJDL� WHUDSL� QRQ� IDUPDNRORJL�� SX]]OH GDSDW�
PHQFHJDK�WHUMDGLQ\D NHODLQDQ�IXQJVL�NRJQLWLI�SDGD�ODQVLD�

.DWD�NXQFL��/DQVLD� 3X]]OH��)XQJVL�.RJQLWLI�
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%\��6WHYHQ�$OGR�0DUFHOOR

7KH�HOGHUO\�KDYH�KLJK�ULVN�WR�JHW�FRJQLWLYH�IXQFWLRQ�LPSDLUPHQW FDXVHG�E\�
WKH� DJLQJ� SURFHVV�� $� WKHUDSK\� H[LVWLQJ� WR� LPSURYH� FRJQLWLYH� IXQFWLRQ� IRU� WKLV�
SUREOHP�LV�ERDUG�JDPH��SX]]OH���7KLV�UHVHDUFK�DLPV�WR�DQDO\]H�WKH�HIIHFW�RI�ERDUG�
JDPH��SX]]OH��WR�HOGHUO\¶V�FRJQLWLYH�IXQFWLRQ��7KH�GHVLJQ�RI�WKLV�UHVHDUFK�LV�SUH�
H[SHULPHQW� GHVLJQ�� 7KH� LQGHSHQGHQW� YDULDEOH� RI� WKLV� UHVHDUFK� LV� ERDUG� JDPH�
�SX]]OH��� ZKLOH� WKH� GHSHQGHQW� YDULDEOH� LV� WKH� HOGHUO\¶V� FRJQLWLYH� IXQFWLRQ�� 7KLV�
UHVHDUFK�LV�FRQGXFWHG�WR����HOGHUO\�RI�6W��<RVHI�QXUVLQJ�KRPH�ZKHUH�KDV�FOLQLFDO�
SUHMXGLFDWLRQ�RI�PHPRU\�GHFOLQH��6DPSOHV�DUH��WDNHQ�IURP�DOO�RI�WKH�SRSXODWLRQ�ZLWK�
VDPSOLQJ� WHFKQLTXH� LWV� WRWDO� VDPSOLQJ� 006(� LV� XVHG� WR�PHDVXUH� WKH� FRJQLWLYH�
IXQFWLRQ��7KH�K\SRWKHVLV�WHVW�LV�XVLQJ�:LOFR[RQ�6LJQHG�5DQN�7HVW��7KH�UHVXOW�RI�WKH�
UHVHDUFK�VKRZHG�S ������ZLWK�VLJQLILFDQW�OHYHO�Į ������LW LQGLFDWHV�WKDW�ERDUG�JDPH�
�SX]]OH��KDV�VLJQLILFDQW�HIIHFW�WR�WKH�HOGHUO\¶V�FRJQLWLYH�IXQFWLRQ��6WLPXODWLQJ�WKH�
FRJQLWLYH� DELOLW\� RI� WKH� EUDLQ� WR� ZRUN� RSWLPDOO\�� DV WKH� QRQ�SKDUPDFRORJLFDO�
WKHUDSK\��SX]]OH�FRXOG�SUHYHQW�FRJQLWLYH�IXQFWLRQ�LPSDLUPHQW WR�HOGHUO\�

.H\ZRUGV��7KH�(OGHUO\��3X]]OH��&RJQLWLYH�)XQFWLRQ


